pT*° [GeV] Lost lepton Z(vv) Rare QCD multijet Total SM' Ngata
Ny =1,mbP <175GeV, N; > 7, Nyes > 1
250-300 136 +23  89+27 34409 29+18 151+26 131
300-400 64+ 12 48+14 24407 1.7+1.1 73413 73
400-500 85+2.1 13404 0574022 0254017 1142 16
> 500 29+11 0544023 0144008 005+003 36+11 0
Np >2,mb <175GeV, N; > 7, Nyes > 1
250-300 274+42  41+13 68+20 28+18 288+44 289
300-400 146+23  27+09 48+13 1.3+09 155+24 131
400-500 2144 12405 13+04  0.1240.09 2344 19
> 500 67+19 0494022 0674028 0034002 79+20 9
Np=1,m5 >175GeV, N; > 7, Ny = 0, Nres = 0, Ny = 0
250-350 56863 200+ 18 27+8 104 £ 69 900+100 899
350-450 141417 87+8 10+3 12+7 2514£23 235
450-550 2744 40+6 39+13 3.6+21 74+8 62
> 550 20+4 33+8 3.8+16 20+1.1 59 +10 41
Np >2,m8 > 175GeV, N; > 7, Ny = 0, Nres = 0, Ny = 0
250-350 120 +15 45+6 9.6+25 14+8 188+£20 174
350-450 28+5 15+3 42412 37421 5147 65
450-550 80+21 72416 17+05 1.0+0% 18+3 22
> 550 42+13 54418 11404 04517097 11+£2 13
Np =1, mb >175GeV, Ny > 1, Nres = 0, Nw = 0
550-650 33+£12 23+07 081+026 008+006 64+15 6
> 650 26410 25+06 0624020 011+008 59413 4
Np =1,m® >175GeV, Ny = 0, Nres > 1, Nw =0
250-350 930+£170  110+28 32£9 17£10 1090 £180 1120
350-450 128 +28 39+9 13+4 29+18 183+33 165
450-550 18+4 14+3 3.0+09 15+1.1 36+6 41
550-650 33+1.1 48+15 14405  0.80+0.66 1042 9
> 650 19406  32+08 0624020 0.13+0.11 58+13 8
Np =1,mb >175GeV, Ny > 1, Npes = 0, N > 1
> 550 0.08£0.07 0.11+£008 017+0.07 001£001 037+£016 3
Ny =1,mP >175GeV, Ny = 0, Npes > 1, Ny > 1
250-350 17+4 17406 18+06  046+0.39 21+5 19
350-450 41414 11+05 079+£026 0.03+003 60+17 5
450-550 0924046 034+0.14 031+0.17 0.16+0.18 17406 3
> 550 0454027 0224011 042+031 0.05+0.05 1.1+05 0
Np >2,m2 >175GeV, Ny = 1, Nyes = 0, Nw = 0
550-650 1.0+05 048+0.19 07+02 003+0.03 22+06 2
> 650 0387927 071£023 056+£0.17  0.0373% 17404 4
Np >2,mb >175GeV, Ny = 0, Nres = 1, Nw = 0
250-350 148 £26 24+6 16+4 62+43 194+£32 175
350-450 23+5 72418  73+20 12408 38+7 38
450-550 36+1.1 36+1.0 23406 046+040 99+20 7
550-650 1.6+0.6 14405 076+£025 0124013 39+10 1
> 650 082703 0804025 075+035  0.0470% 247107 2
Np >2,mb >175GeV, Ny = 0, Npes = 0, Nw = 1
250-350 56 £9 15+4 57+17 32£19 80 £ 13 69
350-450 11+2 80+23 26+08 26+18 25+5 29
450-550 1.8+06 26+08 10+£04 010£0.09 55+12 11
550-650  0.78+0.36 0.8040.34 0.67+0.39 <0.01 23407 1
> 650 036792  11+04 014+009 002£002 1.6+05 1
Np >2,mb >175GeV, Ny = 1, Nes = 0, N = 1
> 550 021+0.14 0.08+005 0.10+0.03 <0.01 038+£017 1
Ny >2,m8 > 175GeV, Nt =0, Nes = 1, Ny = 1
250-350 26+08 051+£023 0.86+028 005+006 40+1.1 5
350-450  0.60+£029 0204011 051+0.19 0.01+0.01 1.3+04 2
450-550  0.17+0.13 0.14+0.08 0.21+0.07 <0.01 0524020 0
> 550 0144011 0.07+0.06 0.11+0.05 <0.01 0324014 0
Np >2,mb >175GeV, Ny =1, Nres = 1, Nw = 0
250-350  0.77+£0.33 <001 0254015 0.05+0.06 11+£04 1
350-450  0.16+0.11 <001  0.1740.06 <0.01 0334013 1
> 450 0.014£0.01 0.06+0.04 0.20+0.08 <0.01 0284009 0
Np >2,mb >175GeV, Nt > 2, Nres = 0, Nw =0
> 250 0.06 + 0.06 <001  016+0.07 <0.01 022+0.10 1
Np >2,m2 > 175GeV, Ny = 0, Nies > 2, Nw =0
> 250 19+08 035+022 15+07 <0.01 38+14 3
Ny >2,m2 > 175GeV, N = 0, Nres = 0, Nwy > 2
> 250 15+07 039+02 017+0.13 <0.01 21+09 3



